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Complete the following Table: 
 
Initial Velocity Time of Flight Maximum Height Range 

40m/s @ 0°    

40m/s @ 10°    

40m/s @ 20°    

40m/s @ 25°    

40m/s @ 30°    

40m/s @ 35°    

40m/s @ 40°    

40m/s @ 45°    

40m/s @ 50°    

40m/s @ 55°    

40m/s @ 60°    

40m/s @ 65°    

40m/s @ 70°    

40m/s @ 80°    

40m/s @ 90°    

 
 
 
Enrichment: A baseball is thrown toward a player with an initial speed of 20 m/s at an angle of 
45 degrees with the horizontal.  At the moment the ball is thrown, the player is 50 m from the 
thrower.  At what speed and direction must the player run to catch the ball at the same height at 
which it was released? 

 
 


